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BCE / A-16
FINANCIAL ACCOUNTING
Paper-11II
Time allowed : 3 hours] [Maximum marks : 80
Note : Attempt five questions in all, selecting at least one

question but not more than two questions from any
unit.
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1.  Define Accounting. Explain the characteristics and uses of
Accounting. ) 21
a@mﬁqﬂﬁmaﬁm%@mﬁﬁmmawﬁwaﬂh
FT | ZT

2. Whatdoyoumeanby Accounting Assumptions ? Explain and
illustrate fully. . 4,12
aﬁmw@%mwm%?WWWﬁm
i | 4,12

3.  Distinguishbetween: 5 8.8

() Capital Expenditure and Revenue Expenditure
(i) Capital Receipts and Revenue Receipts.
Pt & i SR BIOTT - 8,8
@ o @E @ A E
G) e s o S s |
4.  From the following Trial Balance of Modi Garments as at 31st

March, 2012, prepare a Trading and Profit and Loss Account
and Balance Sheet : siibin 4,6,6
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Stock at beginning
Purchase and sales
Manufacturing wages
Fuel and Power
Salaries

Income-tax

Advance Payment -
of Income-tax
Loanto X at 10%
Interest on X’s loan
Apprentice premium
Rent

Rent owing

Furniture (includes fumiture of

Rs. 1000 purchased on 1-10-2011)

B/R and B/P

Plant

Debtors and Creditors
Capital

Cash

Adjustment :

Dr¥ Crz
15,000 -
1,09,000 | 1,80,000
8,000 -
12,000 ~
11,000 -
3,500 -
2,000 -
5,000 -

- 300

- 4,500

4000 -

‘ - 600
5,000 -
6,000 1,600
72,000 -
28,000 | 13,000
- | 1,00,000
19,500 —
3,00,000 | 3,00,000

(i  Closing stock was valued at Rs. 30,000.
() Goods worth Rs. 5000 were sold and despatched on
28th March, 2012, but no entry was passed to this

effect.

(i) Depreciate furniture by 10% p.a.

(iv) Goods costing Rs. 7000 were purchased and included into
stock but no entry was passed to record the purchases.

(v) A B/R for Rs. 2000 included in B/R account has been

dishonoured.

(vi) Create a provision of 2% for discount on debtors and

creditors.
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(vii) Apprentice premium received on 1st April, 2011 was for
3 years.

(viii) Salaries for the month of March, 2012 are still outstanding.

319 2012 # A1 R T A TRATE $ dwge ¥ ARE w

-2 @ a o Rer dar Fif) 4,6,6
Drz Crz
& ¥ Tefma 15,000 -
# A e 1,09,000 | 1,80,000
Frrafor ol 8,000 =
$u od g 12,000 =
ELE| 11,000 -
ATIHT 3,500 -
AEH H A PR 2,000 -
B # 10% T =T 5,000 =
U B WO W R - 300
it diftram -1 4,500
R 4000 -
I - 600
FHrER (1 ofergER 2011 % @l 5,000 -
T 5. 1000 F FHER M B g9)
g o w39 6,000 1,600
= 72,000 =
TR g AeR 28,000 | 13,000
ol - —11,00,000
e 19,500 -
3,00,000 | 3,00,000

IR

@ 30,000%. F fw wimr an)

@ 28w 2012 T 5,000 % A by BT T TR g
4 ot afafte & #f )
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(i) HHER 9T 10% ' TIE

Gv) 7000 1 Hret 9 BT T e i § o it T forn T
T #4 S aRie @ B R

() 2000%. F T g Fos o P o R wa § e
2, aFeRa & T Bl

(vi) ITERE a0 AERT W 2% B G 8 A I

(i) 1 38, Mo:%%;ﬁ&%ﬁ%iw?sﬂﬁ_

(vill) A 2012 7@ H AT AW TF A 2

Unit-I1I (3FE-11)

Manohar Limited has a branch at Delhi to which all goods are .
invoiced at cost plus 20%. Branch keeps its own sales ledgerand

deposits all cash received daily to the head office Account. All
branch expenses are to be paid by head office. Prepare a branch
Account as on 31st December 2010 from the following

informations. 16

Rs.
Stock on 1st Jan. 2010 32,000
Stock on 31st Dec. 2010 39,000
Goods sent to branch during the year 3,90,000
Goods returned by branch 13,500
Total sales 5,20,000
Cash sales ; 2,25,000
Debtors on 1st Jan. 2010 25,000
Debtors on 31st Dec. 2010 33,000
Discount to Debtors 1,900
Rent and taxes 12,000
Salary 22,000
General Expenses 7,500
Goods in transit as on 31st Dec. 2010 6,600

Computer purchased by head office for the branch 32,000
Write off 15% Depreciation on Computer -

(5)

mte for. @t Rl & o awan B, Bf a9t @ @r § 20% sf
HTH A A & | F () o bl @r-aet @ S @ oi
KT o AR yu FEiad 3 @ ¥ a6 B B awer 3 ad
G F YA JGF FEed w81 Pt geeet 3

31 Rem=w 2010 & 9rE &1 @rar JaR Ffm | 16

%.

et (1 sFad, 2010 %) 32,000

i wefar (31 Ry, 2010 #) 39,000

a8 & AT qEn B G A 3,90,000

qrEr ¥ A e B 13,500

T e 5,20,000

T e 2,25,000

&FE (1 s, 2010 ) ] 25,000

&R (31 Resw, 2010 %) _ 33,000
LS & g 1,900
e wd 12,000
EL| : 22,000
= E e 7,500
art & m@r 31-12-2010 F 6,600
e % U gee aw Fget gl @ 32,000

FIX W 15% 7 smfafag Fifw L

21103

Write the difference between :

(&) Consignment and Joint venture

(b)  Del credere commission and overriding commission

(¢) Proformainvoice and Account sales

(d) Normal loss and Abnormal loss. 4,444
frerfafea # e #ifm ¢ 1
(F) Y91 wd dgw ARE

(@ oRey HRE & FREE wheE

(M gIa doe @ e fae

(@ W= v o e Bl 4.4,4.4
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What is receipt and Payment Account ? Distinguish it from income
and Expenditure Account. 6,10
T AR T @ R Fe € 7 geH aur -l G § o=

Hfr : 6,10
Unit-IT1 (5%E-111)

A, B and C were in partnership sharing profits and losses in the
- ratio of 3:2:1. The Balance sheet of the firm as at the date of
dissolution was as follows :

(7)

Z 4
~ Rfe a=r 22,000 ¥% ¥ I 7,000
= 9y 12,000 | fafqy 3Er
0o @ - ez w9 3 Rie
A —84,000 Y el
B - 50,000 1,34,000 20,000
= 1,000 19,000
Teforar 28,000
FET : 6,000
4= @ Asied 34,000
w4 60,000
Oeft @ - C 14,000
1,68,000 1,68,000

O @9 A9 B 23,4205, F o weT & 33,2005, F 3

< 4
Sundry Creditors 22,000 | Cashat Bank 7,000
General Reserve 12,000 | Sundry Debtors .
Capital Accounts :- - | LessProvision
A —84,000 for Doubtful debts
B - 50,000 1,34,000 20,000
- 1,000 19,000
Stock 28,000
Furniture 6,000
Plantand Machinery|] 34,000
Buildings 60,000
Capital A/c—C 14,000
1,68,000 1,68,000

Plant and Machinery was sold for Rs. 23,420 and Building was
sold for Rs. 33,200. Stock was sold for 20% less than its book
value. Bad debts amounted to Rs. 1620. Furniture was taken
over by A for Rs. 4500.

Discount of Rs. 800 is received on payment to creditors.
Outstanding Creditors not provided for amounting to Rs. 2500
were also paid. The Expenses of realisation amounted to Rs. 1200.

C became insolvent and he could pay only 20 Paise in the
rupee. Prepare ledger Accounts to close the books of the firm
following Garner vs Murray rule. 4,6,6
T, §t wd W A e aial B 3:2:1 % gy ¥ Sied §U WEEn
¥ B B GG B GG ST REfG-REReT @ SR A1 -
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fee T 1 @R G g & 20% F T A= R | g5 wor
1620%. gu|

A ¢ F 4500 5. T W A R @Rl B e @
800%. % ge ura g | o A F of, R s 7 gon
M, 2500 F. J A @ g @ 12005, g

4 Reaforar & T AR 98 s9¢ ¥ daw 2048 & 2 g w
P JE® T8 B B U A9 @R SR G T W 0
% Fram @ g it |

4,6,6

On 1st April, 2012, X Purchased a plant from Y on hire

purchase system at a cash price of Rs. 4,00,000 payable in four
annual instalments of Rs. 1,00,000 each, first instalment is to be
paid on signing the agreement. X writes off depreciation
@ 10% p.a. on written down value method. Interest is charged

@ 12% paa.

X could not pay the instalment due on 31st March 2014
and Y arranged immediately to take back plant which
cost Rs. 1,60,000 allowing Rs. 1,10,000. Provided that
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(8)

X paid all the interest due to that date on the full amount
owing. '
Show the Plant Account and Y’s account in the books

ofX. 88

1 30w 2012 A ¥gw’ A aR’ @ T N TEl W 0% |
wiar frasr 99 39 4,00,000 . o1 @ = 1,00,000 5.
# T} gHF afie fewt § R o 31 g R & e
TEUE W SR F 99g & R T 2 | Q9 AT ' UEi
® 10% aifis & feam & & @ 81 & 12% Jifs X 4
T AT 2 |

R’ 31 9/ 2014 F 39 Resq & TN T H TH A
‘TR’ ¥ gea & 1,60,000 . AFW I @ A 1,10,000 5. &
aqE &9 1 T R 9a B e ou [ 9% @ 9 Ui
o H GEE I 2|

‘T’ A gEH  @ie T ] AR’ B @ ST |

8,8

Discuss the treatment of Goodwill in case of gdmission of a new
partner with Journal entries. 16

T OEERER B MY W @Y 3 H9eR & SHa ared &
FHARY | 16
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